ERGOTIG
20 Sintig / Autotig 20

Y

ERGOTIG

Super 20 Sintig

& | b || &

SV1401-00 4m M12x1 1 S61401-00 4m M12x1 1
SV1801-00 8m M12x1 1 S61801-00 8m M12x1 1
SV1410-00 4am TSK50-1/4G 1
SX4401-00 4m - Auto M12x1 1
SX4801-00 8m - Auto M12x1 1

BWO0063 long cap 3 TD0003-10 @ 1.0 collet 3
BWO0064 medium cap 3 TD0003-16 @ 1.6 collet 3
BWO0065 short cap 3 TD0003-20 @ 2.0 collet 3
BW0304 reduction 1 TD0003-24 @ 2.4 collet 3
BWO0305 trigger 5 TD0003-32 @ 3.2 collet 3
BWO0310 cable support 1 TE0003-05 @ 0.5 collet body 3
BXo0625 board 1 TE0003-10 @ 1.0 collet body 3
CXoo080 Tig plug 50 gas quick 1 TE0003-16 @ 1.6 collet body 3
EA0129 oring @ 4.5x2 98W77 10 TE0003-20 @ 2.0 collet body 3
EA0329 screw @3x10 50 TE0003-24 @ 2.4 collet body 3
TCo012 @ 6.4 ceram. Gr 4 10 TE0003-32 @ 3.2 collet body 3
TC0013 @ 8.0 ceram. Gr5 10 TG0020 torch head 1
TCo014 @ 9.8 ceram. Gr 6 10 TG0912 torch head 1
TCo015 @ 11.2 ceram. Gr7 10 TG1000 torch head 1
TCoo16 @ 12.7 ceram. Gr 8 10 THoOO64 4m - M12x1 1
TCo017 @ 15.7 ceram. Gr 10 10 THO065 8m - M12x1 1
TCo0096 @ 6.5 long ceram. Gr 4 10 THoO086 power cable 4m - M12x1 1
TC0097 @ 8 long ceram. Gr 5 10 THo087 power cable 8m - M12x1 1
TCo098 @ 9.5 long ceram. Gr 6 10 THO264 super 4m - M12x1 1
TCo101 @ 6.5 Xlong ceram. Gr 4 10 THO265 super 8m - M12x1 1
TCo102 @ 8 Xlong ceram. Gr 5 10 TP0O090 green handle 1
TC0103 @ 6.5 XXlong ceram. Gr 4 10 TQooo01 insulator 10
TD0003-05 @ 0.5 collet 3

[ ] COMPLETE TORCHES

[ ] CONSUMABLES

CONNECTORS

SPARE PARTS

mE

TIG

WELDING

ﬁ;//oﬁmc]‘

your welding partner



Py ERGOTIG
1ﬂ 20 Sintig / Autotig 20

CONSUMABLES

BWo31o

ZIP COVER
TT0111 3m
TTO112 6,5m

TIG
WELDING

Yy

-

4-8m

n Argon EOS 32
4 bar

3 ERGOTIG
128 Super 20 Sintig

‘-_ ‘D .85 I(gu

CONSUMABLES KIT
NOT INCLUDED

1 Vmin

CONSUMABLES

BXO|625 BWo310

BW0063 -

IEC 60974-7

EA0130

BWo304 ‘

1/4” 28 UNF THo264
THo2865

& CONSUMABLES

P | -

1/4 0.85 Kg
(Gas) N e—
4-8m

113 n Argon =05 +3.2

20A DC
50A AC

CONSUMABLES KIT
NOT INCLUDED

MW

1 /min

Bl

WELDING

ﬁg//oﬁ)??@f oy p

your welding partner




TIG WELDING

Ergotig 9/ 20/ 25

BWO0064
EA0129
(o] BWO0063
TD0003.. 5]
S S
1
TQOO00A
=

TCO012 TCO0013

1 1ol
64 a8

TC0014 TCO015

TCO{)QS TCO(}Q? TCO{)98

gl

— — @ 6.5 @ 9.5
7
TCO101 TCO102 TCO103
+—+ +—
©9.8 @112
TC0016 TCO0017
+—+ +—+
@ 12.7 @ 15.7 =+ 4+
o065 o8
for easy 300 use
++
@6.5

w BWO0O06E5

GAS LENS

Gas protection fl ow is usually
guttered by a STANDARD
ceramic nozzle (picture 1).Such
fl ow is affected by turbulences
of head torch which are caused
by the inlet pressure. In order
to assure an uniform gas
distribution, above all in stainless
steel, titanium and aluminium
alloys welding, we suggest the
use of GAS LENS spare parts.
The electrode holder equipped
with a gas lens net, uniforms the
fl ow (picture 2) and aid to save
the protection gas. If allowed
by external encumbrances,
we advise the JUMBO version
which increases the protected
surface with advantage for
welding quality (fi g.3).

STANDARD

FIG.1

GAS LENS

FlG.2

TE0005... a
r—-——=—=—= r—-———-—-- 1
|
TC0041  TCO042 |
|
]
|
++ +—+ |
064 08 !
TCO043  TCO044  TCO045
D
— — —
— — +—F
098 o112 @127
TDOOSS... o
=t
|
TQO026 =
]
TE008S... &
Fem---- b,
! |
TCo118 TCO119  TC0120
— — T
0127 o157 @195
JUMBO

JUMBO

FIG.3

rormer

% ®
our weldin, riner
- ¥ g pa



	ERGOTIG 20 W S_A
	9_20_25

